SA-1 (CLASS-VIII) 9/2015
SUBJECT : INTEGRATED SCIENCE

Tinxe : 2% hours MM : 80
General Instructions :

i)
ii)
iii)

Ql.

Q2.

This paper consists of three sections A, B and C.

Marks are indicated against each question.

Draw neat and well labelled diagrams wherever

required.

SECTION-A (PHYSICS)
Answer in one word or one sentehce : (1x5=5)
(a) ‘X isadevice used to test whether an object is charged

(b)

(c)

(@)

(e)

or not. Identify ‘X'.

Why do wrestlers apply oil or cream on their bodies

before a fight?

Shyam could hear a mobile ring when it was kept
in a container. But when all the air was taken out, -
he could not hear it. Which property of sound is
shown here?

Friction is not same for all the surfaces. On what
factor does it depend?

Ryana won a game in a party by inflating five balloons
in two minutes. Which force was exerted by Ryana?

Answer briefly : (2x4=8)

(a)

(b)

Rohan was watching T.V. at his home. Suddenly,
he felt the shaking of the earth. After sometime, a
news flashed on the T.V. that an earthquake of
intensity 4.2 on the Richter scale had hit the city. .

()  Will it cause any damage to life and property?
(i) Name the device on which the waves of the
earthquake are recorded.

Give an example to show that fdrcg éan_ 9hange-the-_. e
(i) shapeofanobject

(1)



Q3.

Q4.

(d)

(ii)  direction of a moving object

Find the pressure exerted by a force of 800N on an
area of 40m2. “

A ilat piece of wood and a wooden ball having the
same mass are placed on the same surface. If they
are pushed with the same force turn by turn, which
one of them will cover more distance? Why?

Answer the following : (3x3=9)

(a)

(b)

(c)

‘Liquids exert equal pressure at the same depth'.
Explain with the help of an activity. Supplement
your answer with a diagram.

(i) The weather department predicts a
thunderstorm on the coming weekend. Is it
advisable to carry an umbrella on this day?
Justify.

(ii) Enlist two measures that must be taken to
protect ourselves during thunderstorm and
lightning.

Birds have to move about in air all the time. Their

bodies have evolved into shapes which help them

to fly easily. '

() ~ What is the name given to their specialised
shape?

(ii) Identify the type of friction applied by air to

oppose their motion.

(i) State two factors on which the above mentioned
friction depends.

Answer the following : (5x1=5)

(a)
(b)

()

How is loudness related to amplitude of sound?

An object vibrates 750 times in 15 seconds. Calculats
the frequency and time period of the object.

Out of a bird and a lion, whose volce Is shriller?

Why?

(2)

e ———————
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Ql.

Q2.

Q3.

SECTION-B (CHEMISTRY)

Answer in one word or one sentence : (1x5=5)

V[a)

(b)

(c)

(d)

(e)

Identify the elements which show the property of
malleability :

‘aluminium, copper, coal, sulphur

Name the non metal which is stored in water, as it
catches fire when exposed to air.

‘M’ is a natural polymer made up of large number
of glucose units (monomers). Identify ‘M.

Plastic bags form a bulk of wastes in cities. Why
should these not be burnt?

Arrange the metals copper, iron and zinc in the order
of their decreasing reactivity,

Answer the following : (2x4=8)

(a)

(b)

(c)

(d)

Give reason -

(i)  Sodiumand potassium are stored in kerosene.

(i) Immersion rods for heating liquids are made
up of metallic substances,

An element burns in air to form an oxide. The agueous

solution of this oxide turns blue litmus paper red.

State whether the element is a metal or a non metal.

Give one example of such an element.

Classify the following as thermoplastics or

thermosetting plastics :

bakelite, polyvinyl chloride, melamine, teflon

State the property of plastlc which ls related to the

following uses :

(i)  electrical wires have a plastic covering.

(i) plastic containers are used to store pickles

and chemicals.

Answer the following : (3x3=9)

(a)

A metal X' reacts with dilute hydrochloric acid to
form a gas ‘Y". The metal ‘X' also reacts with sodium

(3)



Q4.

hydroxide solution {on heating) to form the same
gas Y. When a lighted matchstick is applied, this
gas burns by producing a ‘pop sou nd'. On the ofher

‘hand a metal "Z" doesinot reaét with dilute

hydrochloric acid ven on heating but it reacts witn

conc. sulphuric acid.

(i) Name two examples of metals which could
behave like X'

L. Name the gas Y".

) Identify Z.

‘P’ is a manmade fibre which is called as artificial
silk. It is used to make home furnishing like

. bedsheets, carpets etc.

() Ildentify P
() Howis P prepared?
(iii) State one property of ‘P

(c) Give one example of -
(i) The material used for making non-sticky
coating of pans.
(i) afibre whichisa substitute for wool.
: (i) ablended fabric (mixture of two types of fibres)
Answer the following : (5)
(@ ‘X isametal which acquires a dull green coating
on exposure to moist air for long period of time.
(1) Identify the metal 'X'.
(i) Write the chemical nafne of the green cnaung
formed.
(i) State one physical property of metal ‘X',
(b) Complete the word equation and also define the type

of reaction taking place -
copper sulphate + zin¢ ——> ' +

(4)




@l.

Q2.

SECTION-C (BIOLOGY)

Answer in one word or one sentence . (1xd=4)

b

(d)

-Ajay ate fruits.from a vendor. The fruits have been

- eut and-exposed to flies and dust. Name any two

. ' diseases he has exposed himself to.

(b)

(d)

Identify the unicellular organisms from the ones
given below :

()  spirogyra . -.*. (i) paramecium

(i) yeast o (V) peniclilium ;

Vaccine when introduced in a healthy body stimulates
the immune system to produce ‘X' that protects the
body from the specific disease. Name ‘X'.
Deforestation leads to droughts on one hand and
floods on the other. How does deforestation cause
floods?

Answer briefly : : (2x4=8)

(a)

Soha's teacher gave her the following two slides ‘A’
and ‘B’ of different human cells to study :

() Identify the cells ‘A’ and ‘B'.

(i) State the significance of the characteristic
shape for cell A.

Consider the following animal species :
dinosaurs, rhinoceros, python, bengal tiger, crow

(5



(1) Identify the species whose record is lili_n_ely to
be present in the ‘Red Data Book-, ée
ta

(i) Why is their record present in the Red

(e}

)

Q3. Answer the following®

(a)

)

(©

~ Book?
Give reason for the following : ’
(i) Sufficient amount of salt is added to pickles.
(id) pasteurised milk can be consumed without
boiling. o
The ‘cellé are amazing S uetures and contain a
‘number of extremely small organelles. All these
organelles have 2 specific function and work in a
coordinated manner for an organism to live & healthy
life. R
() Fillinthe level of organisation in multicellular
~ organisms in the equational form given below:

Explain the role of imicrobes in the following flelds:

() Bakingindusty
(i) Medicinemdusuymmanufactmeofanﬁbiuucs

' {s a Biosphere Reserve with a unique biodiversity

located in Madhya Pradesh. It consists of @ national
park '@ and two wildlife sanctuaries.

() Name'P and '@ ;

(if) Differentiate petween a national park and

~ wildlife sanctuary. . .
() Name two endemic flora of this biosphere -
reserve. o4 IR ;
() Modes of Nitrogen flixaﬂon- in nature
r sl
Soil bacteria and
iR blue-green algae

(6)
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(ii) Define nitrogen fixation.

(iii) What is the significance of nitrogen in living
_ organisms?
Answer the following : (5)
Lata's teacher asked her to draw a labelled diagram of a

plant cell. She sketched the following figure but with
incorrect labelling.

(a) Redraw the diagram with the correct labelling.

(b) Give two differences between a plant cell and an
animal cell,

(c) State one function of the following cell structures :
(i) nucleus (i) cell membrane

(7



Roll No.: Date : Class : VIII Section:_2.0L.C- 2016,
SUBJECT : SCIENCE (MULTIPLE CHOICE QUESTIONS)
Time : 30 minutes MM: 15
General Instructions :
i)  Attempt all the questions.
ii) There are 15 multiple choice questions in total. Only one of the options in
every question is correct. Put a ( v) against the correct option.
iii) Each question carries 1 mark.
iv) Do not use white fluid on these sheets.
v)  Use only pen to mark the answers.
Ql. Ram tried to drag a heavy box on different surfaces. Which one of the following
surfaces will apply minimum frictional force?
(@) Wet marble floor (b) Wooden floor
(¢ Dry marble floor (d Concrete floor
Q2. Adeviceusedina building to protect it from lightning is called
(@) insulator (b) lightning conductor
() seismograph (d Richter scale
Q3. Which of the following objects cannot be easily charged by rubbing with another
object?
(a) A plastic scale (b) A copper rod
(¢) An inflated balloon (d A woollen cloth
Q4. While playing with magnets, Rahul observed that North pole of a magnet attracts
the South pole of another magnet.
L Ermmms N
In which of the following categories, can this attraction be classified?
(@ Push (b) Gravity
(c) Friction (d Pull
Q5. Which one of the following is not a wind instrument?
(@) Flute (b) Shehnai
. () Sitar (d Pan Pipes
@6. A teacher told the students to make an electric circuit to test the conductivity of

QR~—L

elements. Which group of elements from the following will conduct electricity?
() copper, iron, sulphur (b) graphite, iron, copper
(c) graphite, iron, sulphur (d) graphite, copper, sulphur

(C-1)



Q7.

e ——

Q8.

Q.

Q10.

A student set up the following experiment and kept it for one month. He observed

| plantic, mefad

| _kitchen waste > | amol alam piece
e ey LeFR
CAd L&d

(a) nochange in pot B as materials are non-biodegradable
(b) nochange in pot A as materials are biodegradable

(c) manure formation takes place in pot A and pot B as materials in both are
biodegradable.

(d) manure formation takes place in pot B as materials are non biodegradable.
A metal 'X' is treated with dilute acid, the products obtained are -

(a) salt + carbondioxide gas (b) metal oxide + oxygen gas

(c) salt + hydrogen gas (d) metal hydroxide + hydrogen gas
Diagram given below shows molecular arrangement in two different types of plastics

1

Molecul ax mo lecudan

wavd, mond
e S EYET

(a) bakelite shows molecular structure (1)
(b) bakelite shows molecular structure (II)
(c) polythene shows molecular structure (I7)
(d) melamine shows molecular structure ()

When a metal X' was burnt in air, it produces a dazzling white light and forms a
white coloured ash Y'. Y’ on dissolving in water turns red litmus blue. Identify
metal ‘X’ and nature of 'Y".

(a) magnesium, basic (b)  copper, acidic
(¢) iron, neutral (d) magnesium, acidic

(C-2)



Ql1.

Ql12.

Q13.

Q14.

Q15,

Figures given below show some examples of fungi.

Which of the above fungi was used by Alexander Fleming to prepare the first antibiotic?
@ P b Q
©@ R d S
A student set up an experiment as shown in the figure
to show an important process used commercially. After
3-4 hours he noticed that the balloon had inflated due

to the formation of a gas ‘A", Solution ‘B’ was left in the
test tube. He identified ‘A’ and ‘B’ as -

(@) A - carbondioxide, B - alcohol
(b) A - oxygen, B - water

(] [ oxygen, B - alkali

(d) A - carbondioxide, B - acid
The process demonstrated by the student in the above experiment (refer Q12) is :
(a) pasteurisation (b)  fermentation

() sterilisation (d)  curdling

Students of class VIII prepared a temporary mount of onion peel. Which of the
following is the correct mounting pattern?

balloon

g suﬂq— &oht;,un ]
VQ«-F!:. powdey

A B
c a]
fa) A (B R
(o d D
The stain used to prepare the temporary mount of onion peel is
(a) methylene blue (b) safranin
(¢) glycerine (d) methylene yellow

(C-3)



SA-1 (CLASS-VIIN)
SUBJECT : ENGLISH

Time : 3 hrs | MM : 80

General Instructions :

i)
i)
iii)
iv)

Q1.

Read the questions carefully,
Number the answers as given in the question paper.
Write the answers in a neat and clear handwriting.
Write the answers in complete sentences.

SECTION-A (READING)
Read the passage given below and answer the questions that follow : (7)
A leader should make his men want him. He should make his people accept him
freely, willingly and eagerly. He should influence their thinking, shape their ideas
and direct their actions to achieve the required objective. An aspiring leader should.,
as a rule, avoid finding faults with others. He should nevar declare that another
individual is wrong. When you are out to prove another person wrong, you start
Wwith a serious handicap. you can produce witnesses and establish your point all
right. But in spite of all that you would not have convinced the ther individual that
he or she was on the wrong or did the wrong thing. Since you have failed to convince
the individual, you cannot influence the party. On the other hand, in your eagerness
to prove him wrong, you will only earn his enmity and hatred, His ¢go will be aroused.
He will defend himself at any cost. If you aspire for leadership and recognition, you
should follow the advice that Lord Chesterfield gave to his son “Be wiser than other
People if you can, but do not tell them so”. '
This does not mean that you should not point out the mistakes of others to them,
You must put a stop when an individual is doing the wrong thing and is rushing on
the road to ruin.

Let us therefore, avoid finding faults and let us not rush to prove others wrong. If we

~have to do it, then let us do it in a gentle, tactful and indirect manner. The leader

has only one aim - to win over others {o his way of thinking. He should see that all
his words and deeds invariably contribute to this primary objective. If they do, he is
bound to WIN.

(a)  What influence should true leaders have on their people? (1)
(b)  What should be avoided by the true leaders? 2)
() When will the leader earn enmity and hatred? (1)
(d)  What advice did Lord Chesterfleld give to his son? (1)
(€)  Complete the following sentence : : ' (1

A leader should see that all his words and _ e,
() Find the words from the passage that mean the same as the following : (2x%=1)
()  ambitious _ ; (i) protect from attack

(C-1)




Q2. Read the poem given below and answer the questions that follow :

This is the hour
Of song and dance,
For blissful freedom
Is ours at last.
Gone are the days of caste-born pride.
Gone are the days of foreigner's might:
Gone is passive subservience.
Freedom is our universal speech,
Equality the experienced grace:
We'll blow the trumpet of victory
And publish the truth to all.
We see that all are equal born;
Now lie and deceit are dead;
Only the good men are great,
Ruin has seized the wicked.
Honour to the ploughman and the worker!
Shame to greedy and immorall
We've learnt that this is our own land,

- It will be forever ours,
No nation shall enslave us again;
We'll prosper serving God. our sole Lord.
(@ Why was the poet in the jubilant mood. .
(b) Which days won't ever come back?. :
(00 What will be given to the ploughman and the worker?
{d) Whatis the message conveyed through the poem?

' (¢) Howcanwe prosper?

6)

()
(1)
(1)
(1)
(1)

()  Find the words from the poem which mean the same as the following (2x%a=1)

() perfect happiness  ° (i) success
: SECTION-B (WRITING) -

Q3. Imagine that you ar¢ Ayush/Ayushi Jain, a resident of 36, Shivam Apartments,
Delhi. You attended a workshop on painting organised by your school recently. Write
a letter to your friend who lives in Mumbai telling him/her about your experience of

the same. Also mention how you Were penefitted from this workshop.

5]

Q4. Reading books was once the favourite hobby of the students and now-a-days the

children are drifting away from it. Write an article in about 100 words
*Pleasure of Reading.. - . :

n the topic

(5)

Q5. 'Design a poster to malke people aware of the importance of preserving our historical..

monuments. The poster is to be put up near important monuments.

(C-2)
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Q6.

Q7.

Qs.

Q9.

Q1l0.

Ql11.

Ql2.

g1z,

Q14.

SECTION-C (GRAMMAR)

Fill in the blanks with suitable relative pronouns : (Vax4=2)

(a) Thepen ______ you gave me is a good one.

(b) 1know the woman child was hurt.

(¢)  Ihave found the phone number 1 had lost.

(d) The man is honest. is always trusied.

Replace the underlined words with suitable adverbs and rewrite the senténces :
(1x2=2)

(@) We visit Durga temple of Kolkata once in a while.

(b) Riya has been working on this project without a break since Monday.

Complete the given sentences by adding the correct qut:SUDIl t.ags (1x2=2)

(a) We cannot finish this assignment today,
(b) They want you to give them better wages.
Rearrange the given words and phrases to form meaningful sentences {1x3=3)
(a) people/always/honoured/hard working/are/by/the society

(b) make/disciplined/manners/a/good/student

(¢)  upon/the destiny/a nation/students/of/the/depends

Complete these sentences with the correct determiners : (ox4=2)
(a) Someone has taken books from the cupboard.

(b) the computers are working.

(©) people attended the conference.

(d)  Only students could participate in the competition.

Change the voice of these sentences and rewrite them ; (1x3=3)
(a) A story is written by Sanya everyday. ' o :

(b) This delicious food has been cooked by my ‘mother,

(¢) Ihaven't completed my work.

Fill in the blanks with correct forms of verbs : (Vex6=3)

While I {return) home from work, I was (catch) in a traffic jam.

Feeling hot and thirsty, (decide) to (eat) an ice-cream. On the

road, I (see) two children (look) at me, So | bought ice-creams

for them too. ' - :

Fill in the blanks with collective nouns : : (1x3=3)

(@) Aditya went to see a show of a of dolphins with his family.

(b) The gardener was attacked bya __ of bees.

© A of artists displayed their creativity in the exhibition.
SECTION-D (LITERATURE)

Read the extracts given below and answer the questions that follow : :

(A) “Take a seat! said the cow gently waving her hand. ~ ~ ~ (3x1=3)

‘By no means, dear madam’, said he ‘while you stand!”

(C-3)




015.

Q16.

Q17.

Q18.

@19.

Q20.

Q21.

(@) Where was the cow sitting while speaking these lines? —
(b)  Who does the word ‘he’ refer to in the above lines?
() What do the above lines reflect about his character? .
(B)  “We entered the building, climbed up the stairs and reached the attic in the
second floor of the house.” (3x1=3)
(@  Who are ‘we’ in the above lines?
(L)  Which building is being referred to here?
(c)  Why did they go to the attic?
Answer the following questions in 30-40 words each (2x2-4)
(@ In the chapter ‘The Case of the Sharp-Eyed Jeweller’ where did the narrator
work? Why was that place special?
fb) . Satish’s mother was concerned for him and she gave him a series of instructions.
What instructions did she give?
Answer the following questions in 30-40 words each : (2x2=4)
(a) The cow in the poem “The Cow and the Ass’ shared her displeasure with the
ass. What was her grudge?
(b)  Where did Lochinvar enter fearlessly? What was the reaction of Ellen’s father
on seeing him?
Answer the given question in 80-100 words ecach (5)
Do you find the title of the story “The Woman On Platform &' appropriate? Why/Why
not?
OR
How was James Ryder caught and what details did he give about the missing blue
carbuncle?

Answer the given question in 30-40 words : (2)
Why did Nikunja Babu develop a liking for Anukul?
Answer the folldwinglquestion in 70-80 words : (4)

Anukul, the robot shared a few similarities and dissimilarities with the human beings.
Elaborate this statement. : '
OR

Describe Juliane’s journey from plane to the jilnglc settlement with reference to the
chapter ‘My Ordeal In a Jungle Aircrash’.

Answer the following question in 30-40 words : (3)
The Time Traveller placed a model on the table to show to his friends. Describe the
model and why did he ask the psychologist to send the model on its journey.

Answer the following question in 80-100 words : (5)

What had made the future people weak and lazy?
OR

The Time Traveller was flung through the air with a jerk and he saw a huge white
figure of marble. Name the figure and describe its surroundings.

(C-4)



SA-1 (CLASS-VIII) 9/2015
SUBJECT : SOCIAL SCIENCE '

Time : 3 hrs MM : B0
General Instructions :

i)

ii)

iii)

iv)

v)

Q1.

Questions carrying 1 mark should be answered
in one sentence.
Questions carrying 3 marks should be answered
within 60-80 words. i
Questions carrying 5 marks should be answered
within 80-100 words. ,
Attach the maps properly to the main sheet.
Multiple choice question is to be answered in the
answer sheet.
Choose the correct answer from the options given below
each question (1x7=7)
M) ' ‘A hez;vy gun used by infantry soldiers’. Name
it.
(a) Musket (b) Archery
(c) Matchlock (d) None of the above

" (i) 'The process by which more and more people began

to reside in towns and cities is known as .
(a) Renaissance (b) De-urbanisation
(¢) Cul-de-sac (d) Urbanisation

(1) ‘After revolt of 1857, the Britishers confiscated
their land and property and treated them with
suspicion and hostility". Identify this community
(@) Muslims (b) Stkhs
(¢) Hindus (d) Gorkhas

(ivy Where is the world's first solar and wind powered
bus shelter located?

(1)



(a) America (b) Britain
(c) Norway . (d) Scotland 4
(v) The breaking up and decay of exposed rocks by
“{emperature‘changes; frost action etc. is known ,

as ;
(a) Erosion (b) Landslide
(c) Mulching (d) Weathering
(vi) - was the british official whose action
.., resulted in Jallianwala Bagh massacre.
{a) General Dyer (b) William Jones
(c) General Hastings (d) James Mill
(vii) The decisions madebythe__._ are binding
. on all other courts in.India. AL v
' (a) HighCourt = . (b) Supreme Court

(c) District Court (d) All of these
. Answer the fnllo'wing questions in one sentence each:
(1x10=10)

() Name the mughal ruler who issued a farman to -
the British granting them the right to duty free
trade.

(b) What do you undersiand by the term ‘Khangah'?

() Whom did the mutinous troops proclaim the
Emperor of India?

(d) ‘This battle became the first major victory of the
East India Company in India’. Name it.

(e) List any two factors which affect the growth of
vegetation. T

(f What does CNG stand for?

(g) Why is petroleum also called ‘Black Gold?

(2)



(h)  State the main provision of *Article 217 given in
the Indian Constitution.

(i) Name any two national parties in India.

- {j) . '‘Shewas an African-Amaéricar woman whn fought

Q3.

Q4.

Q5.

Q8.

Q7.

Q8.
Qo.

Q10.

Ql1.

Ql2.
Q13.

Q14.

Q15.
Q16.

against racial discrimination’. Identify her.
How did the assumption of Diwani benefit the East
India Company? (3)

- What was the immaediate cause of the revolt of 18577

(3)
Discuss any three positiv® features of Shahjanabad
or Old Delhi. ‘ (3)
‘This policy of annexation was devised by Lord
Dalhousie'. Identify thepolicy and write briefly about

it. (3)
Distinguish between conventional and non-conventional
sources of energy. (3)
Write a short note on Biogas. (8)

Suggest any three methods of land conservation. (3)
‘All the people in independent India are equal before
the law’. Explain. (3)
List the main functions performed by the Judiciary.

(3)
How do elections to the Parliament take place? (3)
Describe the system of ‘Subsidiary Alliance’ introduced
by Lord Wellesley. (5)
Write about any five methods of soil conservation. (5)
Explain the process of extraction of minerals.  (5)

What do you mean by the independence of Judiciary?
How is it important? (3+2=5)

@)



@Q17. Define the term ‘Law’. Distinguish between Civil Laws
and Criminal Law, © (144 ))
Q18. Attempt the following maps :
“(a)"  On the.provided outline political map of India,
Y+ '« 't 'marne and m‘arly.-the following +:-. . . (1x4=4)
| (i) - Capital of Britishers after 1911.
(i) An area ruled by Ranjit Singh.
(iii) State having deposits of gold.
. (iv) - State having deposits of mica.
(b) On the provided outline political map of the World,
name and mark the following : (1x4=4)
(i) The largest producer of diamond.
(i) The first country to develop hydroelectricity.
© (i) Portuguese base in India. .
(iv) Continent from where British, Portuguese
and French came.

(4)



SA-1 (CLASS-VIII) 9/2015
. SUBJECT : FRENCH
Time : 3 hrs MM : BO
General Instructions :
i}  Attempt all the questions.
ii) Write in neat and clear handwriting.
iii) Write the answers in complete sentences.
iv) Number the answers as given in the guestion paper.
SECTION-A [COMPREHENSION ECRITE]
Al. Lisez: . :
Le départ de Frédéric

John : Bonjour Frédéric! Cava?
Frédéric : Ca va cher ami! Et toi?
John : Cavabien, Merci! Ou vas-tu?

Frédéric ; Je vais 4 la gare. Je partirai pour France le
mois prochain.

John : Donc tuveux acheter des billets et retenir une
place dans le train.

Frédéric : Oui! Bien sur!

John : Est-ce que tu as ton passeport?

Frédéric : Oui! J'ai mon passeport et les visas de trois
pays car le mois dernier, j'ai embarqué sur
un bateau pour visiter :a Belgique et la Suisse.
J'ai retenu ma cabine sur le paquebot par le

mél.
John © : Pourquoin'as-tu pas voyagé en avion?
Frédéric : J'al peur. Je n'aime pas voyager en avion.
John : Pour combien de jours resteras-tu en France
cette fois?

'Frédéric : Peut-étre pour deux mois. Je resterai a Paris
pour un mois et puis je visiterat les autres
villes comme Lyon, Marseille, Rouen et Nantes.

John : Bonvoyage! N'oublie pas apporter un souvenir
pour moi de France.

Frédéric : Merci! J° apporterai des cadeaux pour tous
mes amis. Adieu!

1



Al.l

Dites Vral ou Faux: (1x4=4)
(i)  John accompagnera Frederic pour le voyaggs

(i) . Fréderic apporteraf des cadeatx pour tous ses amis,

_(iii) - Frédéric va aller pur avion.
- (iv)] Il partira pour «a France lc mois prochain.

"AL2

A2.2

Trouvez du texte : - {1x4=4)
(i) La forme masculine de: :

(a) Chérie: ' (car, cher, cette)

(b) derniére:__ (prochain, mois, dernier)
(i) Deux moyens de transports :

() e (b)
(i) Deuxvilles francaises :
(B)ess s idomaas (b)
(iv) Deuxverbes en futur: :
B)s pesae. (b)
Lisez :
Ma journee

Ma famille prend le petit-déjeuner a 8h du matin dans la
salle a manger. Ma mére sert du thé ou du café. Puis, je
vais 4 I'école. Je prends mon déjeuner a la cantine. Je
rentre chez moi vers 15 heures de I'aprés-midi. Je regarde
la télé et je fais mon devoir. Puis moi et mes amis jouons

le foot. A 19h30, ma mére et le couvert et je dine avec

ma famille. Nous commengons par un potage. Puis ma
sorur écoute la musique, mes parents font une promenade
et je lis un roman. A 22h, je me couche et je dors bientot.

Répondez : (1x2=2)
(i) A quelle heure, se couche-t-i1?
(i) O, la famille mange le petit-déjeuner?

Ecrivez du texte : (1x3=3)
() Deuxverbesen ‘er :
(oot alibadyaty (b)

(i) Lecontrairede:
(a) selever =
(b) finir =

(2)

|




Bl.

B2.
B3.

B4.
B4.1

(i) Deux prépositions :
By - AR 0 Atk S
Dites Vrai ou Faux : : (1x2=2)
(i) I prend son déjeuner A la maison.
(i) Il commence le diner par un pain.
SECTION-B [EXPRESSION ECRITE]

Remettez le dialogue en ordre. (5)

L' éléve i Etvos passe-temps favoris?

Le professeur : (a va bien. Qu'est-ce que tu fais?

L' éleve * : ‘Bonjour meonsieur.

Le professeur : J'aime jouer au tennis et au basketball,

L’ éléve . Moi, j'aime jouer sur l'ordinateur.

Le professeur : Au revoir. .

L’ eleve : Jejoue au cricket. C'est mon sport favori.
Et vous monsieur, quel est votre sport
favori?

Le professeur :  Bonjour mon enfant.

L’ éléve : Cava?

Le professeur :  J'aime lire des romans. Et toi?

L’ eleve :  Aurevoir

Décrivez une féte indienne et dessinez avssi. (5)

Faites des phrases : (1x5=5)

(a) ecouter (b) acheter

(¢) anniversaire (d) école

(e) caie :

Regardez les images et répondez : (2+3=5)

(i Qu'est-ce que c'est?

(i) Combien d'étoiles y a-t-11?

(3)



B4.2 (i)

Cl.

C2.

C3.

C4.

(i)
(1)

(1)
(1)
(i)
(iv)
(v)

Quest-ce que c'est?
Qu'est-ce quil y a sur la table? o
Est-ce que le professeur parte les luneties?

SECTION-C (GRAMMAIRE)

Reliez les phrases en utilisant parce que. et, mais, quand,
si, puis. ou, done. L

~ Prenez-vous du gateau; du fromage pour le dessert?

Nous regardons 11 téle; nous faisons le devoir.
J1va au magasin; il va au rayon de chapeaux.
Anne achéte un stylo, une gomme; des cahiers.
Ma mére va chez le médecin; elle a mal a 'estomac.

Mettez les phrases suivantes 4 la forme interrogative en
utilisant la forme mentionée. (1x5=5)

()
(i)
(i)
(iv)
v)

Elle a une belle robe. (II)

Paul et Mare sont dans la chambre. (IT1)
Nous avons un stylo blanc. (0

Sa sceur a une voiture rouge. (1)

Elles mangent peu de bonbens. (1)

Conjuguez les verbes au présent. (1x5=5)

(1)
(i)
(i)
(iv)

v)

Mon ami ______ (éerire) une lettre.

Vous _ (ne pas dire) bonjour au professeur?
11 (se promener) tous les matins.

Je (voir) un bon film avec mon ami.

Tu (étre) indienne?

Conjuguez le verbe ‘Aimer’ au futur simple. (3)

(4)

r-A39AS
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C5. Cochez la bonne réponse : : (Vax6=3)

~“)  Tlva se coucher parce qu'il
. .a) . apeur .~ (b - asommell
‘ (c) asoif
(i) Mon école est mon studio.
(a) acote de (b) acausede
(c] aufond de
(iif) Je viens Paris.
@ ar (b) en
B (c) - de
(iv) Tuvas Etats-Unis pour la fate,
(a) aux (b) ar
([c) des
v) 1 du fromage et des ceufs.
(a) achete (b) achete

{c) achétes

(vi) jupes sont belles.
: (a) cette (b) ces
([e) cet
C6. Complétﬂz avec les articles coﬁtraétés.‘ (Vax6=3)
(a, ala, au, aux, du, dela, d', &1’ de, des, de 1)
(i)  Tu parles amie Pierre.
(i) Vous allez restaurant ou maison?
(i) Latante mon ami parle directeur.
C7. Chassezl'intrus . - (1x2=2)

()  grise, bleue, brun, noire
(i) Diwali, Eid, Holi, Paques
C8. Retrouvez les phrases : (1x2=2)
(I  chocolats/adorent/les/les/enfants '
() de/il/trop/sucre/prend
C9. Metiez les pl'irases a la forme négative (1x2=2)
(ne ... rien, ne .... nulle part etc.)
(i) Ilyaquelqu'un devant la porte.
(i) Il mange quelque chose pour son petit-déjeuner.

(5)



D1,

D2.

D3.

SECTION-D (LA CULTURE ET LA CIVILISATION)

Dites Vrai ou Faux: *xb=5)
@) Il faut arriver & l'école a I'heure. 3
(i) On doit respecter son drapeau national.
(iii) Aneesh fera ses études au college de Marseille.
(iv) Il faut aider les pauvres.
vy Manuel et sa famille sont en vacances.
Cochez la bonne réponse : (1x5=5)
() Clestl ingénieur francais qui a construite
la Tour Eiffel.
(a) M. Gustave Eiffel (b) M. Gostave Eiffel
(©) M. Nicolas Effel
(i) Napoléon Bonaparte est né en
: (a) France (b) Corse
(c) Suéde
(iii) symbolise la flerté du peuple francais. (
(a) . Lecochon () Lechat <
(¢) Lecog
(ivy L’hymne national est
(a) LaMarseillaise (b) LaMarseille
() LaLyonnaise
) est la capitale de la France.
' (a) Frangais (b) Belge
() Paris
Répondez : (1x5=0)
()  Pourquoi Caroline, organise-t-elle une boum?
() Quelle est la profession d'Emelie?
(i) Combien de garesy a-t-il 4 Paris?
(lv) Qu'est-ce que c'est la SNCF?
[y) Qu'est-ce qu'Aneesha annoncé?

(6)
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